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(11)  All questions carry equal marks.
() |& T Hedn
(7))  EE YAAT §AE O ST
MCQ
1. Choose the correct answer : 10
TEIAR T
(1) According to Marshall, The creation of exchange value of utility
MEANS.......coveerernsn.
(a) Consumption (b)  Production
(0 Demand (d)  Supply
ARfere 7d fafma g secied Suaifa=n ffddt wgorsr B
(@) 39 (b)  Scaed
(9 Wit (d) TJEa
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(11) The classification of market mainly depends on.................

(a) Competition (b)  Product

(0 Place (d)  All of these
Wﬁ%ﬁ ajﬁaﬂ_{UT Wﬁ -@-[F'ﬁa wqmﬂg-r{ @a Gﬂ_(}f ..............
(a) HEITER (D)~ THRIER

(0  TIIFER (d) ATl we

(zzy  Which of the following is not the type of price discrimination ?
(a)  Personal price discrimination
(b)  Place price discrimination
(0 Advertisement price discrimination
(d) Time price discrimination
TICATAUR! IOl YRR JeIHQH=T Al ?
(a)  SHRIER qeaug
(b)  TIFIIER JeIvg
(0  SECAER Jeave

(d)  TSTER TaNg

(iv) ~ Collective Bargaining is related to.......................

(a)  Rent (b) Wage
(0 Interest (d)  Profit
gfech WTeE g ¥ Tefa o
(2 @S (b) &
(0 = (d) &
(v Money cost includes...........cccuvvveeeeeen...
(a)  Direct cost (b)  Indirect cost

(@) Direct and indirect cost (d) None of these
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Hifger @=id Ir=m GHEY Bl

(2 v T (b)  FHEH T

(0 w@w oo Ty e (d) ~ @TUehT N

In perfect competition................... is the price determinant.

(a) Seller (b) Consumer

(¢  Advertiser (d)  Sellers and Consumers
T—\‘-{I’aﬁ ................ ﬁ')ﬁqﬁ ﬁﬁaﬂ- A

(a)  forsha (b)  UTesh

(9  fEdEeR (@) fosd 3 TE"
..................... is the assumption of the marginal productivity theory of
distribution.

(a)  Perfect competition (b) ~ Monopoly

(0 Monopolistic competition (d)  Short-run
"""""""""" ? faurren faua Scacsa g T8 eTR.

(a) ol T (b)  HEERT
(0  WeRierigH el (d) TSRS

Which of the following is not the characteristic of monopoly ?

(a) Single production firm

(b) Single good has different price

(0 Right of price determination to the seller

(d)  Right of price determination to the consumer and seller.
TATAIRT IO FRIGRS oSl AT ?

(a) THT IURA TEA

(b) T e fafay fhad

(el a faY o

(0 ferra fAfyedi=n fascren bR

(alla o fa

(d) Toma ffyadmn ues 9 famamen Afusr
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(ix)  In short-run increase in production...................... cost increases.
(a)  Average (b)  Fixed
(0 Variable (d)  Marginal
FTCTRTEEIA SCTGATSAT BTG+ Td ded Sl
(a) o (b)  fer
(0 ok (d) Towma

(x Which of the following statements is wrong ?
(a) Rent is related to land
(b)  Wage is related to labour
(0 Interest is related to capital
(d) Profit is not related to organiser
TTeAAUsh! i foum o og ?
(a) T 7 JHRN gefad R
(b) A B FERR Hetya eTe
(0 =9 § iedart Hafud s
(d T B GASEhRN Gafdd @l

Theory
What is the price discrimination ? State the various types of price discrimination. 10
a9 WIS w7 JeaueE fdafaY FeR |

Or

(fenam)
Explain the characteristics of monopolistic competition.
TR Tef=t afitses T &
Criticise the Ricardian theory of Rent. 10

o ~ . o

[ehls[=Hl s IHoSi('II‘C{ feehTcHeh  TI&TOT .
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Or
(fenam)
Explain the Liquidity Preference theory of Interest.
4, Write short notes on (any two) : 10
(1) Short-run and long-run cost curve
(11) Law of variable proportion
(i Money and real cost
(iv»  Average and marginal income.
deqa feor fasr (FoeE a)

(1) AU d SHERE B a5

(i  Sgercn gHmmen Iy
(i) Hifgs 9 ok T
Gv)  SEd enfor faua Sao.
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